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1. Overall Description:

At the RAN1#99 meeting in November 2019, the following agreement was reached:

Agreements:

Desired Guard Symbols and Provided Guard Symbols are provided per cell and use 3 bits for each of the 8 transitions to indicate the number of guard symbols.

· In Rel-16, a range of 0-4 symbols are supported for each transition. Additional entries are reserved for future use

· A new parameter GuardSymbol-SCS is also provided which indicates the reference SCS (FR1: {15kHz, 30kHz, 60kHz}, FR2: {60kHz, 120kHz}) to be used for the guard symbols.

At the RAN2#109-e meeting in February, the following was agreed:
· RAN2 will design one single fixed-length Guard Symbols MAC CE, containing values (or indices mapped thereto) of all 8 parameters introduced by RAN1.

.

However, at the RAN2#109Bis-e meeting, the issue whether the information received in the Guard Symbol MAC CE should be applied cell specifically or 


cell group specifically (if a cell group is configured) was further discussed. RAN2 could not reach a consensus on this matter, or a common understanding of the RAN1 agreement quoted above. 
Some companies believe that the RAN1 agreement quoted above indicates that Guard Symbol MAC CE(s) should be indicated per each individual cell
, while other companies interpret the RAN1 agreement as indicating that we do not need to be able to assign a value for each cell individually, but that a single value applies to all cells within a cell group.

2. Actions:

RAN2 would very much appreciate it if RAN1 could inform RAN2 at their earliest convenience whether there is a requirement that Number of Guard Symbols should only be applied cell specifically on
 or if the Number of Guard Symbols applies across all the cells in the cell group.
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�As Nokia mentioned, “if we were to apply the MAC CE cell specifically, it would make more sense to have explicit cell ID”, it means that we should only decide if to indicate explicitly or implicitly based on RAN1 inputs.


�We did not make the agreement with this assumption, we disagree to add this clarification.


�We need to explain the reason RAN2 made this consensus


�To our understanding we did not know if we need the Guard Symbol MAC CE cell specifically or cell group specifically. This is part of a solution which has not been agreed.





If we were to apply the MAC CE cell specifically, it would make more sense to have explicit cell ID.


�Considering that cell information in the Guard Symbol MAC CE is not explicitly included as already agreed in last meeting, “apply only to the cell on which it is received” is natural consequence.


�We neither want to indicate this TAG thing as it was never discussed, nor indicated by RAN1. If this was the reason we should apply the value on a per cell basis, RAN1 can indicate it.


�This was also a point mentioned by some companies, and we think this may be the reason why RAN1 previously agreed it is per cell provided.


�We also don’t think this TAG related information is needed. 


�This is RAN2 terminology, which was never indicated by RAN1. 


So, we should say that RAN2 cannot conclude if the GuardSymbol should apply only to the cell on which it is received or to the entire cell.


�I think we only discussed the downlink MAC CE in the last meeting


�“without mandating…” means that in some cases it can be independently configured. But I guess some companies’ understanding is that it mandates a single value applies to all cells within a cell group


�This paragraph does not add any additional value. So, we suggest removing it.


�This was never discussed in RAN2 and was not either indicated by RAN1. So, the question is if it applies per cell or if it applies to the whole group.





